Radical Practice Problem (Oct. 29).notebook

October 31, 2014

Algebra2 CC

Radical Practice Worksheet

D Nan=A6-2n

3) \3x-23 =2

SYN2a-6=a-3

7) b—-5=N6b-35

m
9) —4_\@—5

1) A5 —6r -A-6-2r=3

Simplify.

13) 515310 +2v/6)

‘Write each expression in exponential form.

15) (Wr)?

-1-

Name

ID:1

Date

Period

Solve each equation. Remember to check for extraneous solutions.

2) NV15-2x =A/10 - x

4) 14:\/E+9
3
6) N3p—-20=p—-6

8) 4+ 157 +1=8

10) V-5 -3a -N-3-a=2

12) N2k+10 =3 -~N-2-9%

12) —4\3(4\/5 +~/6)

16) (\5m)’
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Simplify.
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Radical Practice Worksheet

1) \Van =6 - 2n
{1}

3) \3x-23 =2
{9}

5YN2a-6=a-3
{3.5}

7) b—5=~6b-35
{6, 10}

9) —4:@—5
{2}

1) A5 6r-A-6-2r=3
[

Simplify.

13) 5\15(\/10 +2/6)

2576 + 30710

Write each expression in exponential form.

15) (W7’

El
2

T

-

Name

ID: 1

Date

Period

Solve each equation. Remember to check for extraneous solutions.

2) NV15-2x =10 - x
{5}

4) 14=\/E+9
3

{75}

6)N3p—-20=p—6
(7.8

8) 4+

3

157 +1=38

10) N5 -3a-N-3-a=2
{_3> _?}

12) N2k+10 =3 -~N-2-9%

No solution.

14) —4\/3(4/5 +/6)
“16\15 — 1202
16) (\5m)’
3
(5m)?
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Simplify.
21) N/-545°

32207

23) N 18m°

3mN 2m

25) \/245%°

7m\5n

s
7 Wis

1
5

w4
2 Jioo

4

5

31) w15
NE

\s

33) 272+ 245 + 32

572 + 245
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